JL_

Finding Ratios and Unit Rate Name:
Find theratio and unit rate for each problem. Answers
EX) 16 copiesin 2 minutes 16:2 8  copiesper minute
p PIeSP & 162 8
1) 6 bagswith 216 cans cans per bag 1.
. - - 2.
2) 2 movie tickets cost $30 dollars per ticket
3.
3) 18 centimeters of snow in 2 hours centimeters per hour
4,
4) 6 mail trucks had 60 bags of letters bags per truck 5.
6.
5) 9 boxes can hold 45 books books per box
7.
6) 3hoursto drive 189 miles miles per hour
8.
7) 48 CDs with 432 songs songs per CD 0.
_ _ 10.
8) 35 shirtsfor 105 dollars dollars per shirt
11.
9) 8trayswith 56 ice cubes ice cubes per tray
12.
10) 9 game controllers had 90 buttons buttons per controller || 13.
14.
11) 2 tankswith 98 fish fish per tank
15.
12) 28 pintsof juicein 4 containers pints per container
13) 189 cherry piecesin 7 bags of candy pieces per bag
14) 105 dollarsfor 35 TV channels dollars per channel
15) 99 customers over 3 days customers per day
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Finding Ratios and Unit Rate

Name:

Answer Key

Find theratio and unit rate for each problem. Answers
EX) 16 copiesin 2 minutes 16:2 8  copiesper minute
) p PIeSP B 16:2 8
1) 6 bagswith 216 cans 216:6 36 cansper bag 1. 216:6 36
2. 30:2 15
2) 2 movie tickets cost $30 30:2 15  dollars per ticket
3 182 9
3) 18 centimeters of snow in 2 hours 18:2 9  centimeters per hour
) P . 606 10
4) 6 mail trucks had 60 bags of letters 60:6 10  bags per truck 5. 459 S
6. 189:3 63
5) 9 boxes can hold 45 books 45:9 5  books per box
7. 432:48 9
6) 3 hoursto drive 189 miles 189:3 63  miles per hour
s. 105:35 3
7) 48 CDswith 432 songs 432:48 9 songsper CD 0. 06:8 7
10. 90:9 10
8) 35 shirtsfor 105 dollars 105:35 3 dollars per shirt
11 08:2 49
9) 8trayswith 56 ice cubes 56:8 7 icecubespertr
) 8tray eIyl 284 7
10) 9 game controllers had 90 buttons 90:9 10  buttons per controller |[ 13 189:7 27
14. 105:35 3
11) 2tankswith 98 fish 98:2 49  fish per tank
15. 99:3 33
12) 28 pintsof juicein 4 containers 28:4 7 pints per container
13) 189 cherry piecesin 7 bags of candy 189:7 27  pieces per bag
14) 105 dollarsfor 35 TV channels 105:35 3 dollars per channel
15) 99 customers over 3 days 99:3 33 customers per day
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